PRODUCTIVITY: CAN WE GET MORE FOR LESS?


Introduction:

1. Throughout most of the 20th century, Americans enjoyed the highest rate of productivity growth in the industrial world. But by the late 1970’s, something was drastically wrong. What was happening to American productivity?

2. In 1978, the Carter administration asked, “Can government encouragement of new technology solve the productivity dilemma?”

3. By 1981, the nation was ready to try a new approach… Can less government lead to more productivity?

I. American productivity in the late 1970s.

1. Why is productivity so important in our life?
-to see the world in terms of supply and demand
-classic widget factory

-an economic marvel of the industrial age
-to slump alarmingly 


2. Why did productivity grow so fast?  
-to be predominantly a farm economy

-to be a nation of steel
-to lead to an ever-improving standard of living

-to be confined to (the steel industry)

-phenomenal explosion of productivity

-to single out one factor as paramount

-to produce at low costs

-technological and managerial knowledge

-to account for almost 2/3 of the total increase

-to migrate to the cities
-to soar

3. Why did productivity suddenly decline in the 1970’s?
-a diversity of factors
-to bring a new era of concern about the environment

-to clean up pollution

-to spend money on environmental facilities

-to have a costly impact on industry

-to be not available for modernization projects

-to be new to the jobs / untrained
-to lead to an embargo of oil
-to take a nose-dive

-to reel from spiraling energy costs

-a climate of economic fear and uncertainty
-to discourage the capital investment

-to retard the growth

4.  Were there any “quick-and-easy” solutions to the problem?

-to find “quick fix” for the growth rate
-to take an enormous amount of doing

-to get a tenth of a point addition

-to contribute to the decline in growth

-to resist “quick and easy” solutions

5.  Sum up this part.  Focus on significance of productivity growth and the factors that might cause it to decline.
-to express productivity growth
-to involve huge changes in output per capita

-a fivefold increase in real incomes

-to be a matter of concern

-to make energy inputs expensive

-inexperienced new entrants to the labour force
-government regulations to protect the environment

-to take smth for granted
II.     New technology as a way to solve the productivity problem
1. What were President Carter’s actions to improve productivity?
-the relationship between productivity, technology and research and development

-to enjoy the productivity benefits

-advances in metallurgy, communications and computer sciences

-to support NASA’s program

-to push hard for government funding

-to develop new energy sources

-to be on the threshold of exciting breakthroughs

2. Why were companies reluctant to invest in research?

-investment in research as a percentage of GNP

-to appropriate the social benefits

-to come forth with a new product

-to accrue

-to under-invest in the activity

3. What ways did the federal government see to encourage industrial innovation?

-to be only a little part of the innovation process

-to pool the resources
-to target at 

-to restore flagging productivity growth

-to loosen the stifling restraints

-to forge a public and private partnership

-to spur industrial growth

-to encourage businesses to innovate

-to respond to the needs of the public

4. Sum up this part.  a) Say why innovation is important;


b) Give arguments for government involvement in research and 


development.

-to be at the heart of productivity growth

-intangible, human factors

-to be critically important to increasing productivity

-to take the lead in promoting smth

-the costs and pay-offs of a project
III. Government backing off from the economy
1. Who are the supply-siders? What is their idea of increasing productivity?
-to provide incentives to private industry

-to back off from the economy
-punitive taxes and excessive regulations

-to see the government as the source of economic miseries

-to unshackle private enterprise

-to get the government out of the marketplace

-to cut taxes
-to get more profits

-to increase the quantity and quality of the capital

2. What was President Reagan’s “supply-side” tax proposal? Was it accepted?
-to reduce marginal tax-rates

-a proposal of rate cuts and cuts for business

-to give incentives to savings
-to muscle through a great political victory

-to block the President’s tax plan

-faster depreciation of capital investment

-to pass the tax passage

-to amend the bill

-to provide real permanent jobs

3. Was this measure effective?
-to lead to an increase in employment

-a lot more productivity per employee

-the boosts in consumption and invest spending

-to provide generous benefits for businesses for investment purposes

-a supply / demand shift
4. Summarize this part.  a) Speak on how lower taxes can improve productivity;



b) Provide arguments for and against lower tax rates.

-higher take-home pay

-to take the risks of introducing new technologies

-to lead to a greatly increased CNP
-to result in higher total tax revenues

-to get spectacular increases in productivity

-to lead to big budget deficits

-to lead to high interest rates

-to result in lower business investment and growth

-to show a substantial rise

-to keep the government spending side of the equation in check

Discussion:

 In 2002, U.S. labor productivity increased by over 4.5%. Some analysts estimated that about half of this increase was attributable to cost cutting by companies in the face of sluggish economic growth. However, the rest was due to a more sustained rise in total factor productivity – or the efficiency of the economy – as a result of high-tech advances and the increased use of the Internet.
Why is this increase in total factor productivity so important to the long-term growth in living standards?
